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= 209,368
Al 112,736
307 2Iz2t0| A 322,104 322,104 0
= 209,368
Al 112,736
05 QIZ2tREF 2 322,104 322,104 0
OXIHXIE 2l NS (Z0AHLESH 2 Ol &) 322,104
& 209,368
Al 112,736
X O etA e 2EH| 1,245,331 1,105,000 140,331
J| 996,265
Al 249,066
101 2121 H] 672,537 520,000 152,537
J| 538,030
Al 134,507
03 2L (RIHSY)Z22XE 368,000 340,000 28,000
OXIHHAHE 222 o122 (8Y) 368,000
Dl 294,400
Al 73,600
04 JI12ZtHIZ22 NEES 304,537 180,000 124,537
OXIOHOtAHE JIZHHZ22 K 22 (10Y) 302,537
J| 242,030




2N 2AL
)élﬂ: ilDH HXNY o = Xlgﬂ\/d.il XM

CHRl: X022 ALY (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 60,507
OXINQAME JAH22T 222 22 (10
) 100, 000& 10 24! 2,000
J| 1,600
Al 400
201 LBt ]| 410,931 371,800 39,131
J| 328,745
Al 82,186
01 At 22l ] 399,261 306,800 92,461
OXoHogna 2dMEs 2
9,000 x20H x24 3| 4,320
J| 3,456
Al 864
OXIIAINSE EBEE2E 2
10, 000& *8Z *800H 64,000
J| 51,200
Al 12,800
OXMIIEYH <L XIOHetA JHA 45,252
WEYH MEA, S2A, ST HE
1,084,000 3= 3,252
J| 2,602
Al 650
XN=2= sSAIY 2SS 2
10,000& *2Z =100 2,000
J| 1,600
Al 400
XOjera oS &FMA
10,000& *10= 4004 40,000
J| 32,000
Al 8,000
OXOMZEINZE EEOAAI =S L HAE
24,250 #4353 x 128 20,364
J| 16,291
Al 4,073
O Z&sxiex g8 29 203,159
XOHOHAME & Y e &2ls 7Y
9,280& *22H x33| J|x1973] 120,659
J| 96,528
Al 24,131
HAE HEH &Y EHA(OlSEo) 28|
50,000& =6 2553 76,500
J| 61,200
Al 15,300
A 2 AEAEES 500,000& x12& 6,000
J| 4,800
Al 1,200
OXIohetX ¢ JIsnas s 2dMsE 2
10,000& x 15 *213] 3,150
Dl 2,520
Al 630
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S EAA
M X0 2F gls NHAE x4

Chel: XI0H 22l At (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OO adH 22 A& =(72) Ax0l
3,542,750 x12& 42,513
| 34,010
Al 8,503
OXINGAME NRE2E S 7
,703,000& =14 9,703
| 7,762
Al 1,941
OXINQHAMEl BAR S|
8,000& x5 100 4,000
| 3,200
Al 800
OXIHOHAHEl SAR TI=HI (142)
100,000 *14H »24! 2,800
| 2,240
Al 560
02 2322l 11,670 15,000 A 3,330
Ot XKL ns B FX 2l
135,000, 000& *2.2% 2,970
| 2,376
Al 594
OXINQAME S SAWAMASE ]
1,600,000 *20H 2 3,200
| 2,560
Al 640
OxXgszH ¥ |FX22H S 5,500
bl 4,400
Al 1,100
202 odl 10,000 10,000 0
| 8,000
Al 2,000
01 S LHOHI 10,000 10,000 0
OXIfZelAmd f3s, a8 5 0l 10,000
| 8,000
Al 2,000
301 LEXZ 111,863 115,200 N 3,337
| 89,490
Al 22,373
09 HALAHIX A S 42,343 57,600 A 15,257
OXIHOIY X QINLEHDA 24
2,500%20% 163 800
| 640
Al 160
OXIHeta ey & S &H 2tA 2
2,500 x22H *33| J| x2473| 40,755
| 32,604
Al 8,151

*213] 788
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| OH 22| At Ctel &)
CEB P (3H) - NRAY - B ofl &t o SSa HDE2
Jl 630
Al 158
12 JIEtE &2 69,520 57,600 11,920
OXIoHoIeY L oX2euwa ZA-E
80,000& *323] 2,560
Jl 2,048
Al 512
ORI XWHLDS 014K 4EA 2
30,000& *200H 6,000
Jl 4,800
Al 1,200
ORXIOfOrAI M & Sy A=Y
80,000& *33| J| 247 3] 59,280
Jl 47,424
Al 11,856
OXIOHE X JIE D XD 2AISS
80,000& *213] 1,680
Dl 1,344
Al 336
307 QI2t0| ™ 40,000 88,000 AN 48,000
Dl 32,000
Al 8,000
01 2L Z | 40,000 88,000 A 48,000
OXIOHZED|IZ&Y| 10,000
&I AR 40,000& *100H 4,000
Dl 3,200
Al 800
2 2 AHH 75,000& *80H 6,000
J| 4,800
Al 1,200
OXINex Xs=2 JIXM e (88) 30,000
Dl 24,000
Al 6,000
SXo 5 2= AL 1,821 0 1,821
Dl 1,457
Al 364
201 Bt 1,821 0 1,821
J| 1,457
Al 364
01 AtR 22l bl 1,821 0 1,821
O340 &8s AEHE Xd 1,821
Dl 1,457
Al 364
cl sEEAS AT & 22| A 1,069,768 1,085,970 N 16,202
= 262,746
& 81,073
Al 725,949
2 Ze| At 1,033,778 1,050, 156 N 16,378
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 245,751
< 77,674
Al 710,353
UE2EHALY 370,460 310,360 60, 100
101 @14 Hl 93,860 3,360 90,500
03 3R (RINAHY) 2= HES 93,860 3,360 90,500
ORIAHL 22X E(U2BAMGH) 93,860
NEE 960,000%4H 3,840
324 888,000 7Y %23 12,432
23 52,0003 x7H +128 4,368
& Mz AlH| 140,000 x7H 123 11,760
FEF Y| 1,320,000 »7H 201 & 18,480
A2+l =& 295,000& *7H 1204 & 24,780
Gt AE, ENZ HYS
2,600,000 »7H 18,200
201 L2l 14,600 15,000 A 400
01 At 22l 14,600 15,000 A 400
Oogeg Addae T2 =22 M
40,0003 *3204 2~ 12,800
OgzHzdze dMgod 225(9Y)
100,000 »9H »24! 1,800
203 H R =&l 2,000 2,000 0
03 Al =& A2 =& 2,000 2,000 0
OUZESAHAME AI#HSRFAH 2,000
301 LPEXF 190,000 190,000 0
12 JIEtE4 3 190,000 190,000 0
Oal &l H2ae| T2 2 AR
40,000 =950 2 *493| 186,200
O MM Adze |AHel wSh|
10, 000& 1994 2 203 3,800
307 glz2+ol & 70,000 100,000 A 30,000
01 2L F =4l 70,000 100,000 230,000
O e2A222lAre IR R (LsEMA
JFECXN S 68) 70,000& x1,000% 70,000
d2g LoAzdae NIEAMG(EX) 90,100 321,750 A 231,650
< 27,030
Al 63,070
301 LEAZ 90,100 321,750 A 231,650
< 27,030
Al 63,070
12 JIEtE4 S 90,100 321,750 A 231,650
OZ2% T2 29 ZA=+E
40,000% * 13004 2~ 163 83,200
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A EAA
I Xot2e sHEMS /s gEHd 22 AY
Sl WRAHY alAY CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 2,000 9,920 ANT7,920
= 1,000
& 200
Al 800
01 AP 22| H| 2,000 9,920 AN7,920
OgSEAAY 2SYSES 7
500,000& *43| 2,000
= 1,000
= 200
Al 800
202 04| 2,000 5,500 A 3,500
= 1,000
== 200
Al 800
01 2L HI 2,000 5,500 A 3,500
og2H2dA2IAIY =& ddl 200,000& *102] 2,000
2 1,000
= 200
Al 800
HEEAMIIsEE A2/ (BEX)(Al-1oT I8t 147,384 0 147,384
)
= 73,692
Al 73,692
101 Q121 H| 60,300 0 60,300
2 30, 150
Al 30,150
04 JI2ZtHIZ22NEES 60,300 0 60,300
OAl=loT ({2 A A2 Mol
2,500,000 2 x 121 & 60,000
2 30,000
Al 30,000
OJIZtNZ22 X 282 2 150, 000& »2H 300
= 150
Al 150
201 et | 61,434 0 61,434
= 30,717
Al 30,717
01 AP 2t 2] d| 59,034 0 59,034
OAIATIH () 24 ,900& 1800 1004 & 44,820
= 22,410
Al 22,410
OclEds g22337¢ 553,500 x43| 2,214
2 1,107
Al 1,107
o1& g 29X 1,000,000 x1CH* 1200 & 12,000
= 6,000
Al 6,000
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2N
X ZH -
L= B

el

= - 4 14
S C(BH) - HEAY - BAS %Eﬁ HR=2
02 2224 H| 2,400 0 2,400
Oxg RF4 & SA22H S
200,000& *1CH* 1200 & 2,400
= 1,200
Al 1,200
301 et A= 1,500 0 1,500
= 750
Al 750
12 JIEtE2 A= 1,500 0 1,500
OHL0|IE 2&A2 X ClHEE X2
15,000 100X 1,500
= 750
Al 750
307 2iz2to| & 24,150 0 24,150
= 12,075
Al 12,075
01 sed =t 24,150 0 24,150
OS2 & 45 HWAXNES ol 2
6,037,500 4= 24,150
= 12,075
Al 12,075
g 2E ogael 7,990 8,740 AT750
201 £Bt24 | 4,150 4,140 10
01 AF2 22| H| 4,150 4,140 10
O g2EE Het2e|AlY NI 2
3,500%20% #2504 A 1,750
OSEEM AADA 01428
10,000 *15H 1604 & 2,400
301 LBt A= 3,840 4,600 AT760
09 SHAIAHI X & 2 1,280 920 360
OSEED AL FALHS
20,0003 *43| * 164 A~ 1,280
12 JIEtE A& =2 2,560 3,680 A 1,120
OEEE@ LR 29 T MYl
80,000 *23] * 164 & 2,560
MOt & X 22l At 27,900 27,900 0
206 M = dl 4,400 4,400 0
01 =4l 4,400 4,400 0
OMIIILZLZIAIY 29 SE 2
550,000 =83 4,400
307 212t0| & 23,500 23,500 0
o1 s R=H| 23,500 23,500 0
OMIIXE A S2H 2L 23,500& *1,000" 23,500

_48_




A EAA
M Iotztel sEEY At
SRl HRAY olAY SREED
= — d =
SN - FE B2 RIS ALES - B2 0l &t o e 2
tE It olEHl ¥ Morr&el XA (Mo e 22l 19,766 19,766 0
M)
< 11,860
Al 7,906
201 Let2d] 800 800 0
< 480
Al 320
01 At 22l 800 800 0
OMIte2e 2 400,000& »23| 800
< 480
Al 320
202 O4dl 2,000 2,000 0
< 1,200
Al 800
01 = LH 4 Hi 2,000 2,000 0
OMOt 2t 200,000& x 103l 2,000
< 1,200
Al 800
301 YPrE A2 2,240 2,240 0
= 1,344
Al 896
09 S ALAHI X 1,440 1,440 0
OOt &t =
180,000 82| 1,440
< 864
Al 576
12 JIE24 3 800 800 0
OOt &t 2 ALHI
80,000& x 103l 800
< 480
Al 320
307 2I2+0| & 14,726 14,726 0
< 8,836
Al 5,890
(ORI N=a= = 14,726 14,726 0
Ot =7
3,630& 200 14,726
< 8,836
Al 5,890
AT 2IEHA 4,200 0 4,200
201 L2l 3,000 0 3,000
01 At 22l 3,000 0 3,000
OglY =22 60,0003 *25H 1,500
OdtY =23 1,500& =1,000H 1,500
301 LEAZ 1,200 0 1,200
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2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
12JEEd= 1,200 0 1,200
OdLY 2xd IMd
80,000& 153 x1H 1,200
NSAAS THE & & SHALS 35,990 35,814 176
= 16,995
< 3,399
Al 15,596
ZOfQ THEAE 2,000 2,000 0
201 £B-2dH| 2,000 2,000 0
02 =224l 2,000 2,000 0
OM&ZHl |FXE==Hl 2,000
NAASISHME X3 AS 33,990 33,814 176
= 16,995
< 3,399
Al 13,596
101 @124 Hl 33,990 33,814 176
= 16,995
< 3,399
Al 13,596
04 D12t Z2XEES 33,990 33,814 176
OXNGASI S THE KA 33,990
= 16,995
< 3,399
Al 13,596
NEAE S& A2 SFat 1,706,476 1,572,730 133,746
= 2,548
J| 402,605
< 274,231
Al 1,027,092
KA HAAZAS 1,706,476 1,572,730 133,746
= 2,548
J| 402,605
< 274,231
Al 1,027,092
FAAL=XNHEH 29 21,000 39,050 A 18,050
201 Let24E] 2,200 17,250 A 15,050
01 At 22l 2,200 15,900 A 13,700
OFMNALBERH 48 DS
2,200,000& x1H 2,200
202 044l 1,800 1,800 0
01 = LH &4 1l 1,800 1,800 0
OFUALHS2 221 Ot
1,800,000& 1 1,800
307 glz2+ol & 17,000 17,000 0
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SA EHA

Ha: NGNS FAAY 4
Sl XA HAALAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 22272l 17,000 17,000 0
OXAANEX & FUEEX S=2=H K&
500,000& x4 H 2,000
OFAAEX Xzl XA 130,000 =100 13,000
OFMEEI A22eE s JIINM &
1,000,000& *23l 2,000
FAUTHEAE(EX) 818,450 744,320 74,130
< 245,535
Al 572,915
307 21201 A 818,450 744,320 74,130
< 245,535
Al 572,915
11T MISRASEX 818,450 744,320 74,130
OFAMUTHEAE 2gH XA
797,060,000 *1J4 & 797,060
< 239,118
Al 557,942
OBAWEAE SMT SE+Y
1,782,500 =124 21,390
< 6,417
Al 14,973
Aatog MelXls K& 56,720 50,300 6,420
< 17,016
Al 39,704
101 @14 dl 41,960 39,000 2,960
< 12,588
Al 29,372
04 JI2ZtHZ22HEE =+ 41,960 39,000 2,960
OX&UE MelXls XNEAY 2 41,960
< 12,588
Al 29,372
201 Let249] 8,160 5,900 2,260
< 2,448
Al 5,712
01 At 22l 5,160 3,900 1,260
OZ218 29 23 7¢ 23,0008 +20H x83] 3,680
< 1,104
Al 2,576
OMY B2 ¥ 1,480,000& *12] 1,480
= 444
Al 1,036
03 A2 Z HI 3,000 2,000 1,000
OX&uee & A 3,000,000 14! 3,000
< 900
Al 2,100
202 044l 1,000 1,000 0




SA EHA

Ha: NGNS FAAY 4
S XFAS FAAZ ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 300
Al 700
01 = LH o4 1l 1,000 1,000 0
OX&UE MelXls XA =3 1,000
< 300
Al 700
301 LEAF 3,100 2,400 700
= 930
Al 2,170
09 SALEHIX A S 1,600 1,200 400
OXaMY delxls NIAY F8 243
5,000& *20& 163 1,600
< 480
Al 1,120
12 JIEtE &= 1,500 1,200 300
ORI MXS NBAY 2T SALL
100,000& =152/ 1,500
= 450
Al 1,050
307 21201 A 2,500 2,000 500
< 750
Al 1,750
01 222l 2,500 2,000 500
OXanegz 2dzd XA 250,000& 10 2,500
< 750
Al 1,750
Aaoe & HAALSIAY 30,540 30,540 0
J| 15,270
Al 15,270
101 @144 dl 30,540 30,540 0
J| 15,270
Al 15,270
04 JIZHHZ2XRHEES 30,540 30,540 0
OXtaog & FAALBSTAY AFY 30,540
J| 15,270
Al 15,270
FAAL=XNHEH XY S 35,490 35,314 176
J| 17,745
Al 17,745
101 14l 34,490 32,000 2,490
J| 17,245
Al 17,245
04 JI2ZtHZ22 a2+ 34,490 32,000 2,490
OFMAL=SXNEEH AU csE R 34,490
J| 17,245
Al 17,245
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X ZH -
L= B

el

ASAE S oA &
KIS Atel 3AAZ AL

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 1,000 3,314 N2,314
J| 500
Al 500
01 AP 22| H| 1,000 3,314 N2,314
OZzd 89 28 7Y 500,000& x23| 1,000
J| 500
Al 500
INZ=HMNAHLBEXNLHEH 2H 64,400 184,224 A 119,824
J| 32,200
Al 32,200
101 @121 | 35,000 161,900 A 126,900
J| 17,500
Al 17,500
04 JIZtHIZ22XNSE S 35,000 161,900 A 126,900
OFANAHUEIALAH Q182 35,000
J| 17,500
Al 17,500
201 et d| 15,400 17,724 N2,324
J| 7,700
Al 7,700
01 AP 22| H| 15,400 14,224 1,176
OFAAL MO (M)FIHE FH2Y
0,000& x5 x123] 4,200
J| 2,100
Al 2,100
OZz)d 29238 ¢ 200,000 x503] 10,000
J| 5,000
Al 5,000
OFNAHLAYE EEEE 2¢
1,200, 000& *13] 1,200
J| 600
Al 600
301 et A =2 14,000 4,600 9,400
J| 7,000
Al 7,000
09 #HALAHIXI& 2 9,000 3,000 6,000
OFMNAHZLAIY =& ZBa=
5,000& *20H 903! 9,000
J| 4,500
Al 4,500
12 JIEtE2 A= 5,000 1,600 3,400
OFAMNAHUAIE T2 22AILE
100,000 503 5,000
J| 2,500
Al 2,500
HFUHLSAHEYH BEHS 382,780 145,296 237,484
J| 191,390
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A EAA
B NAASEA HAAY
ol XIGASl MY ALY CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 191,390
101 1244 dl 382,780 145,296 237,484
| 191,390
Al 191,390
04 JIZHHZ2XREES 382,780 145,296 237,484
OFAALASKME 212 377,980
J| 188,990
Al 188,990
OFUMAL=EXNEEH SAA 282 2¢
200,000& 12 *24| 4,800
J| 2,400
Al 2,400
SEHAUHLEUAY 292,000 280,000 12,000
| 146,000
< 11,680
Al 134,320
101 1A dl 40,000 30,000 10,000
| 20,000
< 1,600
Al 18,400
M4 D122 EXNSES 40,000 30,000 10,000
OFAUALEXNHEH 22 40,000
| 20,000
< 1,600
Al 18,400
201 Yet2 | 177,800 182,800 A5,000
| 88,900
< 7,112
Al 81,788
01 At 2t 2l 146,300 159,800 A 13,500
ONg 2 Z2Iy 2925 7
350, 000& *2003] 70,000
| 35,000
= 2,800
Al 32,200
OclEd & 222 7¢ 5,000,000 104 50,000
J| 25,000
= 2,000
Al 23,000
OZZUL19 & MYl XIAMNY 22235 7
5,000,000& 23] 10,000
| 5,000
< 400
Al 4,600
O8ZEAH(OISHEFX) ¢
500,000 1204 & 6,000
J| 3,000
< 240
Al 2,760
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SA EHA
Hu: A SN H
Chol: XIS ALS FAIA

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

4,000
320
3,680

ol I

405 TtabH S| 52,200 45,200 7,000
Jl 26,100
2,088
Al 24,012

in

S F S 52,200 45,200 7,000
OZAUAHLFXNME AMRIHF S 7Y 32,000
J| 16,000
1,280
14,720
oHltle =zHH 2,600,000 «1CH 2,600
Il 1,300
104
1,196
OAEY A ZAII (S THAN) 9,600,000 «1CH 9,600
Jl 4,800
384
Al 4,416
8,000
Il 4,000
320
3,680

= =z M

N

O
=
oo
0
0z
3
>
Ao
02
o
o
4
1
M
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A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OZBFEAHAA A2t 224
11,9173 x2H x25A| 2+ 596
OZELAN AB222g
50,0003 *32H x12& 19,200
OZELAON 422 2Y
8,000 x181 x3H 4,344
03 Z2LE(RIHS)22XEL 46,452 42,238 4,214
otz 46,452
=3 2,529,600 x 15 x12& 30,356
HHZAY| 170,000& »1H x12& 2,040
AR 125,000& x 19« 12& 1,500
S REEa=y 100,000& *1H x12& 1,200
a4 2,529,600& * 1 x50%*23] 2,530
Hd2g I3 80,000& x1H x12& 960
HE =S IHY| 2,529,600 x 1 x60%*23| 3,036
Al 2EQ| =&
15,3802 1 .58 »1H *13Al 2t 12& 3,599
S N 15,3802 1 *x8A| 2tx 10 1,231
| 22Z bl 453,190 388,490 64,700
Jl23Hl 453,190 388,490 64,700
201 Bt H | 196,270 190, 100 6,170
01 At 22l Yl 12,230 6,780 5,450
osdgsg(22) 60,000& x118 7,080
OF=1=1:] 5,000
Ostd&e|d 1=l 150,000& x1H 150
02 3524t 184,040 183,320 720
Osdgdsz 220,000& x12& 2,640
QFIRRB(EAHXA g 137,000
ONs2(BEAXA L&) 2,300,000& x12& 27,600
Oadt+EZ2(EAXA ZId)
900,000& x12& 10,800
ORH dE=2 500,000& x12& 6,000
202 (4] 227,000 171,200 55,800
01 2L Y| 54,800 54,800 0
OB2AAMY g2F4 54,800
02 MY 172,200 116,400 55,800
OBAX A EHNYI 61,200
Otd, G, &tLHH 300,000& x5H x12& 18,000
olE™ 250,000& »2H x12& 6,000
2SS 200,000& »2H x12& 4,800
JEIS¥ s 150,000& *18H x12& 32,400
OBAHAZ A FHNH| 55,200
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